Part-1/9m-1
Compulsory / aAfard

What is equity in teaching-learning
process ?
(A) To treat every student equally.

(B) To provide them support as per their

individual need.

(C) To provide them equal opportunity
to grow.

(D) To behave with the students equally
without any discrimination of caste,
gender etc.

ST - 37TeTH <hl Tfshan | =1 99T & 2

(A) T B & Y THM TR AT |

(B) STeh! SAfeRITTd HATERIhell b IFHAR
378 TERIA 9EH LT |

(C) 3= forehTd & THM 319 YgH T |

(D) Sfd, e 3mfe < wewra = fomr s
o H1Y FHH STIER HLAT |

The primary task of a teacher is

(A) To stimulate, motivate and guide :

students’ learning.
gg To teach good habits in students.
textbook units.
(D) To satisfy the expectations of the
principal, parents and society.

T TR187h T T

(A) BT o AR 1 Fiearfad, I 3T
T |

(B) BT ol 7=t 3T g |

(C) Fuifd  digashs 3 UTgAgEH

%1 TGHT |
(D) JaHEE, AE-Udr 3R ga 6
YT 1 I BT | (A)

What is the level of the following questions ?

like — ‘Prepare a diagram on ... ,
‘Explam the components / parts of ........ ) i

‘Conclude the characteristics of .......
(A) Understanding level
B) Analysis level
C) Creativity level
D) Application level
Smg FIERFATE ?

To teach the prescribed syllabus and |

4.

6

was the educationist who gifted
Kindergarten Education System to the

World
A) Gijubhai (B) Dewey
C) Herbert (D) Froebel
Terewmre favet yomeft w51 SuER feam an|
(A) Tﬂ—sms‘ (B) et
(C) &I (D) Whisid
MOOCs must contain the four quadrants
1E)er SWAYAM guidelines.
ich of the following is correct list and

sequence of these quadrants ?

(A) e-tutorial (video), e-text (reading
material), = self-assessment tests,
online discussion forum

(B) e-text (reading material), e-tutorial
(video), online discussion forum,
self-assessment tests

(C) e-text (reading material), e-tutorial
(video), e-tutorial (audlo) self-
assessment tests

(D) e-tutorial (video), e-text (reading
material), online discussion forum,
external assessment and certlﬁcatlon

SWAYAM % foan-faden & 31gan
MOOC T 4R =gafyr g4 =fge |
ﬁwl%i%aﬁﬁaﬁqwsﬁa@aﬁﬁﬁﬂﬁ
T 3T TR

(A)émﬁw@%ﬁ) 3-SR (TS

qrft), T -edTehd qhET, HATers
== 79 (BRA)

(B) -3 (Yad4 dmft), 3-TFIEd
(fifen), maﬁw(qﬁm),
- AT qEu

(C) 3-ea2 (Y3 dmfl), 3-TgeIfera
(aﬂ%ﬁ)qéza@fwa(w%ﬁ) -

(D)ée;e@f(amaﬂ%aﬁ) -3 (T
gmfl), e == g9 (BRE),
STEH JeAreh 3T JH0=
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10.

Which of the following is not the
example of qualitative research ?

(A) Ethnography (B) Survey

(C) Case Study (D) Focus Group
fraferfiea & @ &9 @1 TS Y H
IETET TR & 2

(A) Fofa-aviF  (B) Tee

(C) &tk AZFH (D) Hebfrad TG

Which of the following inferential
statistics data analysis technique will
you use for the data that is less than 15
and selected using Convenient Sampling
Technique ?

(A) A Variance Test

(B) A Parametric Test

(C) A Non-Parametric Test

(D) None of these

GiIaTSieh TR Tehileh BT ST
Hleh I T 3R 15 & Y ST o 1T 379
= o @ *F @t g anfessht s
TergeTeT qehftes 1 IUFTT BT 2

(A) T ferawor qhteqor

(B) Ush Yrafetsh qieqor

(C) T TITH(Teh Thequr

(D) 3T § 1S T

Which of the following is NOT a useful
software to analyse the data obtained
through research ?

(A) Microsoft Excel (B) SPSS

(C) SSPS (D) PYTHON

IAHYH b WEH F U HAfhSl I
v 1 & fou fafaRga g @ s @
TSR ST T8l & 2

(A) WISHIETTR T (B) THICHTH

(C) wougdied (D) YA

Which of the following types does NOT
belong to “Types of Interviews” in
research ?

(A) Structured Interview

(B) Unstructured Interview

(C) Personal Interview

(D) Impersonal Interview

freferfiga & @ ®F @1 YR IgHYH |
“HTRATesh R o T | T erd & & ?

(A) GIFEd BRI

(B) 3ITERIT ATRAThR

(C) afeaeh HTETTehR

(D) JraferTeh HTETTh R

LR A g
| TR SfieH o Wt ol HH TE a1 | SEa:
| Ao 379 ST S WEHISS! & BHRI TEEhid J 3
| I "GO Bl OIS e & 3N EHR Tyl e <
| ol TS W HE T ¢ | 36 WY & WM WA
| EXAT o U IE B T | FA9H e Jomett
| Jeed S I UH HHM o FoTC FET-Rehiien wi
. 3R U@ SHHT B | T, Y IR T 3 fedl
| BUTTR & Fifeh I 3T i TR I s 6
| SO gR ¥ S $9 G 1 S A o -

Read the following passage and answer the

. Questions given below : (Q. 11-15)

The scientific and critical mind of India

must be reawakened from its slumber. The

ancient culture based on the vision of the Vedic
and Upanishadic seers did not minimise the
importance of our earthly life. In fact, opulence,
inner and outer, was the driving force of this
culture. But for about a Millenntum and a half
now our culture has let go of this fine balance and
got trapped into the ascetic denial of our terrestrial
life. With this began the decline of the great
Indian civilization. The present education system
aims at making the child an information-
recording machine and a robot for making
money. Mathematics, computers and machines
are everywhere in these days because they are the
gateways to lucrative jobs and subjects which do
not enjoy this repetition - history, geography,
languages like mother tongue and Sanskrit - are
out. The second grave defect of our education
system 1is that it 1s gravely denationalising. No
German education would be regarded complete
without a good acquaintance with Goethe, but
Indian education has no such concern about the

i sources of our culture. It is ironical that Indian
. education is uncritically trying to emulate the
i West just when the West itself 1s going through a

crisis of faith with regard to its institutions of
education and culture. It is desperately wondering
what has gone wrong as it faces mounting
problems 0% drug addiction, teenage pregnancy
among high school students, an existing
hopelessness among people of all ages as well as
a social organisation that sets a premium on greed
rather than on compassion and love.

e i o A g o s

& I GIfTE : (T, 11-15)
T o ST 3T AT AT
35eh! i & foh & S B | Afes 3R 3ufg
T IMYTRG T TE&hid 4 §AR

<l Ik wiferd o |

13 (Law)



R SFERIHT R &l 8 | T o 37 U=
form 18 oft Srfe frer o 7l =t St &, AfeR
R 1T o1 AT Teehia < @it 6 R H Udt

1S e 8 & | 7 forewer & p v fren v
ferell STTeATerT o UfTerm <1 TR0 i i I |

HE 2, T afvem W e s Tl % T
LI o Hey 3 forva i & Tehe T ST 8 | T8
TR & T @1 & Top o e 21w & i aw

TS o S Ueh Hio[gT FRrsm <hl st Tuenati s

HTHAT S T8 8 ST 0T 3R 3 o ST AT |

Jrfenge Tenfud T g |

11. The author of this paragraph wants to
Indian culture.

(A) revive (B) criticize

(C) praise (D) None of these

39 ITTSE h @ ANATT TEBId I/l |

AT ATEd 7 |
(A) GASfiterd (B) 3=
(C) @ (D) $TH | IS &I
(A)

12. The word ‘opulence’ in this paragraph

means

(A) peace (B) wealth

(C) values (D) None of these

T =G H e g 1 31 7
(A) wiifer (B) &
(D) T8 § 15 el

13.  Which of the following is NOT an issue

faced by the western society as per the ;

above text ?

(A) Pre-marital sex among adolescents
(B) Various addictions

(C) Depression

(D) Lack of faith in God

frffad 3 @ F4 1 I T %
AR ufvadt TS g AmAT fohen S
T HEl & 8 2

(A) et & st foramg 4o =i Geiy

(B) Hq

(C) RN

(D) $ver H forgame i wrft

13 (Law)
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14.

15.

16.

“No German education would be

regarded complete without a good

acc(ljuamtance with Goethe.” What do you

understand by this line of the text ?

(A) The author praises German
education system.

(B) The author likes the German artist
Goethe.

(C) The author emphasises teaching of
arts and culture in education.

(D) None of these

‘ﬂﬁ@g IS qﬁwgﬁmﬁé%ﬁaﬁq

e qof &1 7 STt B 17 31=ee i 3|

Ul AU RN EAAAR?

(A) oTEeh o e Somret shi ST i 2 |

(B) G SiHH <heflehI TIIU i 0 hid ¢ |

(C) s T1em § sl 3R T=hid &
e A g |

(D) T & IS Tl

According to the author, our education

system is denationalising because

(A) It does not teach about the great
seers and sages of India.

(B) It does not teach about the great
artists of India.

(C) It does not teach about the ancient

language and literature of India.
D) All of these

% IgEr, wAh fuenm e
FFUGRIHTT <L TEl B Hifeh N
(A) T8 WA  HEM RI¥a1 3 Hdl & R
7 7l forgrei ? |
(B) I8 WA % HEM Hellhii o a1 T Tl
ot 2 |

(C) ¥18 WRA = T W91 3R Hifeed
TR T2 e @ |

(D) @& &+ft

A conference or a meeting or even a

mela or procession is a ‘communication

event’, newspapers, radio, cinema and

television are ‘communication media’,

phones, computers, satellites and the
internet are ‘communication ’

(A) spaces (B) media '
(C) technologies (D) process
Th G I1 Th o3 A1 A& deh {h Th

AT A1 @ T TR FeAT 7, THER-
w, e, fgam s efifesm w=r
T’ E, BH, FI, IWE I FEAE

TR 21
(B) Hifean

(A) AT
(C) vrenfuferai (D) wfsran



17.

18.

19.

20.

21.

The Interpretation  process in
Communication takes place in )

(A) sender g ) message
(C) receiver D) channel

IR | AT Uk (FHEE 1 ) |

FEA R |
(A) ﬁw (sender)
(B) H<I (message)
© Tedehdl (receiver)
(D) EER] (channel)
What is of greater concern is the effect
of ¢ > which could result from
repeated exposure to scenes of violence
in programmes, news and cartoons.
EA StereotT{pes
B) Generalisation
C) Desensitization
D) None of these

S 3tferen feiar & foww 8, 98 ¢ &l
TS B, ST ShEshHT, GHET 3T ki
féan % gwl # dR-an fe@m &

IRUTTREEY 2 Jhdl 2 |

(A) Sfgaried B) @M=t
(C) FEAHT (D) TTH & HIE T
Environmental Stress, Competing

Stimulus, Subjective Stress are examples of
(A) Noise

(B) Physical barrier

(C) Frame of reference

(D) Emotional barrier

e, gfceeff 3Euw, safedwes
qTa fohdeh 3TE & 2
(A) IR (B) s sen
(C) Hey T (D) WTa-TcHe STeT

Gestures, Grunts
examples of

(A) Evolution
(B) Non-Verbal Communication
(C) Noise

(D) Verbal communication

and Grimaces are

, ECEHT 3 g s fohereh Seretn 2
(A) Tam (B) TR-HiRge TR
(C) TR (D) Hifgss gaR

Find the missing number in the given

series following the same pattern :

& TS e § gAM e 1 SR
A FEIT A I :

18, 24, 84, 294, 798, (?7)

(A) 1682 (B) 1788 (C) 1867 (D) 1932

22,

23.

| 24.

Shyam bought an old Honda Bike and
spent X 1,500 on its repairs. Then Shyam
sold it to Rohan at a profit of 20%.
Rohan sold it to Rudra at a loss of 10%.
Rudra finally sold it for I 12,100 at a
profit of 10%. How much did Shyam
pay (in %) for the old Honda Bike ?

I H T U BieT S1geh GLie] 3T geh!
A W T 1,500 @9 fpu | i w358
UET Bl 20% o 19 T & fem | Usd 3
3 3g Bl 10% hl BT W = fem | vg 3
HATRITHR 38 T 12,100 T 10% o 19 W
99 feam| wm 9 gt giet 915 o o1

foReT (T ) YA fema 2
(A) T 8,600 (B) T 8,685
(C) % 10,800 (D) % 10,185

There are three athletes P, Q and R at the
same point. P starts running from a point at
a speed of 40 m/min. After 5 minutes, Q
starts running after P with a speed of 50
m/min. Simultaneously, R also starts
running after P at 60 m/min. What distance
has R covered (in m) when he catches P ?

H Teted P, Q IR R U &l faig W e | P
w foag @ 40 wfer/fme i 7ifd & e
IJE B g | 5 M s1g, Q, P & Ui
50 e /fire 1 71fd & et & a8 |
gy &, R off P & 11® 60 Hiex/fime 6
Tl & EreT I& LT & | P ol Uehsd TR

3 fepeft gt (e ®) T 2 2
(A) 700/3 (B) 1000/3
(C) 600 (D) 1300/3

In an election between two candidates,
the winner got 82% of total vote cast and
won the election by a majority of 3840
votes. What is the total number of votes
cast if no vote is declared invalid ?

Gl IFIGAR o o9 T AT H, foordn i
%ol STol T HAl T 82% I §IT 3R
3G 3840 Tl o SgHA | TATE Sid ol |
I IS Ta A IS T&1 fohan S 2
Al STt TTT Al Y Hol HEAT AT 2

(A) 11000 (B) 4000

(C) 9000 (D) 6000

13 (Law)



25.

26.

27.

13 (Law)

Read the following information carefully
to answer the question given below :

(1) X *Y means Y is mother of X.

(i1)) X + Y means X is brother of Y.

(i11)) X —Y means X is sister of Y.

(iv) X/ Y means Y is father of X. i
Which of the following definitely means
that ‘P is grandson of Q’ ?

Jo fou M oy H IR A F
freferfiea Sl 1 STHYES Ue
OX*YHAGRY, XFHIATR |
()X +YHRIIFEX, YR UER |
() X- YR IFZX, YHI &R |
(V) X/YHATRY, X HTTUar? |
Frerferfaa o @ forerept fifvaa w0 & aef 2
f6 P, QH1IUETR ?

(A)P*H/Q

(B)A-P*H/Q
(C)A*P*H/Q

(D) None of these/g:lﬁ @?ﬁé:ﬁﬁ

Consider the following argument :

Major Premise : No squares are rectangles.

Minor Premise : All rectangles are circles.

Conclusion : Some circles are not squares.

What is the Mood of the above proposition ?

frfafgd oo = famm =t

%g@a INUR-TH : HI5 oft o 3mrd &
|

Y INER-AT : THft A I 2 |

e : gp gt T 7 | =

IR TR T TG FAT 2 2

(A) EAO (B) AEO

(C) ATE (D) EAT

Choose the analogy that best matches the
example provided.
SOOT : GRIMY
(A) RAIN : SODDEN
(B) PALL : GAUDY

(C) FROST : TRANSPARENT
(D) DUST : RADIANT
98 WgYd Y4 S UgH fohT T I W
e 3191 Al @1l |
i@ : T
(A) 991 : -/  (B) 3T : WShIeAT
(C) UIet: IR (D) 4e: SIfcaH ™

28.

29.

In following question statements are §iven
and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically

follows from the given statements,
disregarding commonly known facts.
Statements Some questions are

answers. Some answers are writers.
All the writers are poets.

Conclusions :

. Some writers are answers.

II. Some poets are questions.

III. All the questions are poets.

IV. Some poets are answers.

A) Only I'and II follows.

B) Only I and IV follows.

g Only I and 1V follows.

Only II and_III follows.
HAT h a1g ey | ST
wtﬁm - ”%3 9 Hﬁ;?ﬁq

Y9 § %A U T § I A

T H <l TT AT B .

g @ =1 weffa Bid & | [ ] Ug 371

o frartfia =t fop_feu o frsest & & &4

|1 A T a2 shi 3ueT whid gy, fau

Wmaﬁwamxgﬁmﬂm%%l

hYA | TGS 2 |
mmﬁf%@w

freerd 5

1. TG IR |

L. gmﬁrm%

. Ift s hfa g |

Iv. a»-i%ra%ﬁtél 3

A I 3 11 3= |

EB))éromaﬁuvaqgawm%ﬂ

(C) shaet I11 37 IV T HLd 8 |
D éﬁane»ﬁxnmﬁww |
gW)hoever thrusts a ife into% another

person should be arrested. Surgeons thrust
a knife into another person when operating.
Therefore, surgeons should be arrested.’
Which fallacy is committed in the given
argument ? )

A) Fallacy of accident

B) Hasty generalization )

C Apgea to unqualified authority

D) Red Herring

TR SfEd T =R AR a1l PRI

fohaT ST =1feT | JITEH ohid |9 Hoid
= o =1 =i9d & | 38T, "
Frwan fopa ST =Tfee |

fou e qeh o A it wifa g 2

T 9

(B) SAferantid qmT=fishtor

(C) 3T Tferehrt st 3Tdfiel

(D) E&f




30.

Which of the following statements are true

with reference to Vyapti (concomitance) |

according to the Nyaya system ?

(a) It expresses the relation between

two individual objects only.

(b) It expresses the relation between the
classes of individuals.

(c) It can be said to exist between two things
if they are related as cause and effect.

(d) It can be said to exist between two things
if they are related as species and genus.

Choose the correct answer from the
options given below :

(A) (a), (¢) and (d) only
(B) (c)and (d) only
(C) (b), (c) and (d) only

(D) (b) and %c) only N

S| e (TgAT

a’aﬁﬁﬁmﬁmﬁgﬁﬁqﬁ%éqw)% ?

(a) I8 hadl ol SAfdAl o S Y =T
HATE |

(b) T& K b Tl b i Helel &b T & |

3 Q1 el & o ST ThelT B
© a&awaﬁm?i@w T & |

d HEEEEESEE RN
SN Rl Sk R

T HerE g |
e few o freredi 1 & U8 Ia s =R hifT
(A) %5 (a), () HR() (B) i () HR(d)
(C) % (b), ()3 (d) (D) e (b) 3N (c)

g. No. 31 to 35 : The table given below provides
ata about investment done by different persons.
Read the table carefully and answer the questions.
(Note : Calculate simple interest unless specified
and all questions are independent of others%.

9. 31 9 35 ;: Fi9 & 7 arferer Tl safwet g

foru U Frew & SR T ST JEH T B | dTfotehl i |

&I | U¢ 37 I 1 IWE |
(T : TR0 TS 1 TTUAT L 6 b I8 T & |
SRt S gt & e 1)
Person Rateof | Time |Principal| Amount
=t interest | (Years) | werem LU
FqER | 1 ® ®
(=)
Amar / 3T 3% 1,800
Brijesh /fsom1 | 3% 3,000
Chirag / fem 4 2,900
Divya / fgem 2 4,500
Ekta / Tehdl 4% 2,000
Fenil / ®f& 2 6,000

31.

32.

33.

34.

If the interest rate received by Amar and
Chirag is in the ratio 2 : 3, then find in
approximately how many years the
money invested by Chirag will be
doubled with same rate of interest.
Ife 3R SR R g oe &9 @ 2 : 3
% I § g, ar ferm g frew < e
TR 9H &9 & 8 A9 fehad aui |
& ST 2
(A) 33.5 (B)20 (C)22.22 (D) 29.40
If the ditference between the interest
received by Ekta and Brijesh is I 420 and
Ekta invested her money for double the time
period for which Brijesh invested his money,
then find the amount received by Ekta.

If¢ whar 3R TSRt gRT ST =TS % s
IR T 420 g 3TN Toha 7 fororer g o Hr
TS ST | QT STare o T 31 e fert
fora B, 1 Weha bl ST U1 3T <hIfSTT |

(A) 2,298 (B) 2,785

(C) 3,050 (D) ¥2,960

If the amount received by Chirag is
twice the money invested by him, then
find the amount he will receive after 2
years if he invests same amount of
money in compound interest for 2 years
comr]%ounded half yearly.

Rl FI ST T 3Tk gry FEw
HERUAE] 7, d1 ma hife fp 2 a9
e 39 i st gl afe a7 3
iyt 1 2 oY % fou e it
Tohd [, TS H e LT 2 |

(A) T2,233.56 (B) ¥2,549.45

(C) ¥2,322.62 (D) %2,122.46

If the interest received by Fenil is 20% of
the sum invested by him, then find how
much more money as interest he would
have earned if he had invested the money
in compound interest for the same years.

TR TS SIS 39k 2N

0

35 FHM TN o (¢ ThalG

Tere BT A1 39 foha 31fYeh st e |
(A) X80 (B)X60 (C)X65 (D)X 75

If the interest received by Fenil is I 240
more than interest received by Divya and the
rate of interest received by Fenil is 2% more
than the rate of interest received by Amar,
then find the interest calculated by Divya.

Ife %A g1 e =Tt e g vH = e o
% 240 3k & 3R WA g0 I S hl
T I g 9T ST <hl & H 2% AT 3,
qt feea gry o foma TR =Tt S <hifTT |
(A) 1% B)2% (C)3% (D)4%

13 (Law)



36.

37.

38.

39.

Which one of the following statement(s)
1s/are true about QR code ?

I. It stands for Quick Read.

II. It is a two-dimensional bar code.

IIL. It cannot be used for cryptocurrency  ;

wallet addresses.
(A) Both Iand II §B) Both II and III

C) Only II D) Only III
%\W\%\'@ﬂﬁ@ﬁ@/ﬁ%% QR FiE &

TRATE /22

L. saaﬂaﬁqéaﬁﬁm%%nckRead)%l

II. I8 gi-fofa s 2 |

111, 39ehT 9N FoReiehiE afele Tead
fore & fopn s wehaT 2 | .

(A) I3RS (B) 11 3R I EHT

(C) aet 11 (D) ke 111

Which video compression standard is
commonly used in videq conferencing ?
SfifeAT IR § AR i

R form
HIGT TUES h1 ITANT fehaT SITaT 2 2
(A) H.264 (B) MPEG-2
(C) MPEG-4 (D) VP9

____is adigital initiative of government
of India in higher education that aims to :

promote hands-on learning of Robotics
and embedded systems in colleges.
(A) E-Yantra (B) Virtual Labs
(C) E-PG Pathshala(D) E-Shodh

I fRTefT H I FhT i Th
Uedt B TSEeh BT Hiows & aifes 31
TS T i e 1 SeET e g |
(A) 3-33 (B) I3 isH
(C) 3-4ish yresmeT (D) 3-3ny
What is the National Institutional
Ranking Framework (NIRF) ?
(A) A government body responsible for

accreditation of higher education
nstitutions.

(B) A methodology for ranking higher

education institutions in India.

(C©) A platform/framework
students give feedback about
colleges and universities.

(D) All of these

(NIRF) T8 2

(A)ﬁ%ﬁé@ﬁ@ﬁﬂﬁﬁ%%ﬁ%

orier v g fem |

(B) Wt 5 3, P e 1 b 3 |

foTQ weh iy |

(C) U TE /T &l B hictsll 3ﬁI
o :

T aR A Ifafsran <d 8 |
(D) ¥ Tt

13 (Law)

where |

40.

41.

42.

|43,

What does it require to set-up an Intranet
for an organization ?
A) Computing devices
B) Communication links and
Interconnecting devices

(C) Protocols ~  for _enabling
communication among devices
D) All of these
%?Fﬁ TS o folU 3gHe TA1a &
fere s 2 2
(A) :
(B) H=R fo7sh 3R
(C) o off<l TR ! W& L 5
(D) I aft
Under which protocol the Clean Development
Mechanism (pCDM) is implemented ?
A ﬁyoto protocol
B ontero protocol
C) Paris agreement
D) Cartagena ggrotocol )
JIeiehlcl o dgd s o™
GISOSIUNERIE I

(A) F (B) Hiel SeEhiA

(C) U@ Tusiidl (D) IS TIdiehicd

Certified emission reduction credit represents

(A) Reduction in one metric tonne of sulphur
dioxide emitted to the atmosphere.

(B) Reduction in one metric tonne of
nitrogen oxide emitted to the
atmosphere.

(C) Reduction in one metric tonne of carbon

dioxide emitted to the atmosphere.
(D) None of these

IS haldl shige  (certified

emission reduction credit)

(A) TIHSA H IEAA Hohl SEIAFHEE
% Th Ul < § T | §
(B) IIHSH W I AT5gIoH STaTEe
% Teh Hfgeh o H | }
(C) ITIHSA H IHSIA HIEH SHIHATTFTES
o Ush Higsh o H 1 |

(D) 378 | IS T

Arrange the crops in an ascending order

for their water footprint.

A) Wheat < Rice < Coffee

B) Rice < Wheat < Coffee

C) Coffee <Rice < Wheat

D) Rice < Coffee < Wheat
& 3T

ST ghgd (water
footprint) o ToTT STRIE! 3 H SHATEIA . |
(A) g < TS < HIh
(B) e < 7T < it
(C) ih! < =g <5
(D) T < il <5



44.

45.

46.

47.

How many kilograms of CO, is

equivalent to 1 kg of CH, in terms of |

global warming potential ?

et Ll N —

CO,, 1 freiiom CH, & SRR 2 2
(A)" 10

B) 25
€c3 S0 :
(D) None of these/STH H IS T&

The United Nations Conference on

Environment and Development

UNCED), also known as the °‘Earth

ummit’, brought together

representatives from countries

to discuss about the impact of human
activities on the environment.

A) 179, socio-economic

B) 177, socio-demographic

C) 175, socio-cultural

D) 173, bio conservation

foprE W Tg® TP THTH
(JuEEe), 8 ‘gl Rret aeE %
w7 § oft I ST 2, D
yfaffert = wfaer W aHa

et 3 S % R A

T wh |1 A |

(A) 179, GraThTeh-3Tfh
(B) 177, AT —ST:
(C) 175, QrTfTeh-
(D) 173, 9 T&q0T
In most of the States of India, the Vice-
Chancellor of a State Government
University is appointed by .

A% Chief Minister of the State

B) Home Minister of the State
C) Hon. Governor of the State
D) Education Minister of the State

c

(Dﬁ T o foren Wt
Which is/are the online

Flatformgs])l in India ?

. DIKSHA 1II. SWAYAM
III. PARAKH IV. SWAYAMPRABHA
gAg Only I, II (Bg Only I, II, III

C) Only Ii (D) Only L I, IV_
A § STeTE 18701 7l b |1/8 8 /8 2
I dan . @&

. 7@ IV. TR

(A) ae I, 11 (B) shad I, 11, 111
(C) aet 11 (D) &I L, 11, IV

learning

48.

49.

50.

Which of the following institutions/
organisations play important role in

designing the curriculum for all the
levels of school education and higher
education in all the disciplines of
knowledge ?

[. NCERT II. NCTE

1. UGC IV. AICTE

(A) Only L II (B) Only L, I, I1I
(C) LIL, 100, IV (D) Only L, I, IV
M o a fawai # wRefl fren ok 3=
et o |t & o fTQ qTa@shn AR &
T fafafgd & 9 ®F @ GE/9ed
Tgaqut ferent fuma § 2

[ TERARE 1L TR

IV. TITEHER
(B) had I, 11, 111
(©) LIL, 100, IV (D) sad I, 11, IV
Which of the followin
University was situate
present time ?

(A) Nalanda (B) Taxila
(C) Vallabhi (D) Vikramshila

fefafga 4 @ w9 @ e ardE
Torvafoamem adam @99 & wifesaE |

ancient Indian
in Pakistan of

f@rcr?m
(A) ATl (B) q&rfret
(C) oot (D) ferspufstemn

NEP 2020 has emphasized on

I.  starting all the engineering and medical
courses in the vernacular languages.

II. reviving ancient knowledge systems.

III. converting all the colleges into
multi-disciplinary universities.

IV. designing a new curriculum for Early
Childhood Care and Education.

(A) LILILIV  (B) Onlyl II, IIT

(C) OnlyL,III (D) OnlyIL, IIL, IV

TAgdt 2020 A R AR e ¢

L &t sSiifEi s afgwe aigasea
T T3 | I T |

II. ST=E S Jomferlt sl T |

L &ft sl wg-fawres
Teroaforaneri @ af@faa e |

V. YRfeh STeaTaee c@vTe 3T fra
o ToTT Teh T UTSAhA IR ST |

(A) LILILIV  (B) saat I, I, 111

(C) haet I, 111 (D) e 11, 111, IV

13 (Law)



S1.

52.

53.

Part—I1 / 9-11

Law / fafer
54.

Who among the following jurists divided

the subject of Jurisprudence into general |

and particular jurisprudence ?

(A) Holland (B) Bentham

(C) Austin (D) Pound
Frferiaa et # | fopae =
% fawa &1 w3 oy =~ |
fofra fepam o 7
(A) Blcte

(C) affeed

The Philosophical School of Law is

primarily interested in :

(A) The reality behind law

(B) The relation of law with the ideals
sought to achieve

(C) The philosophy behind a law

(D) The reasons behind law

faf & enifaes fem 61 2fa ger w9 @

from g ?

(A) I o YT i Frarcehdl

(B) ST S o SIGT STTEITT o AT T
&1 e

(C) I % IS &l geA

(D) I o s 1 HROT

(B) S¥H
(D) UI3E

in  his “Theory of
Legislation”, has distinguished between
law and morals by stating that, the
legislation has the same center with

morals, but it has not the same
circumference.

(A) Bentham (B) Salmond

(C) HLA Hart (D) Gray

3 I “foum & fag@” d
T 3 Afeshar % o i HEd 7
Terar 8 TR, I ST Afchal 1 %3 T &1
7, ifeh gweh! afitfr aam T 2 |
(A) S99 (B) Hes
(C) HLA & (D) U

13 (Law)
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5S.

Match the Jural Opposites :

(a) Right (1) Disability

(b) Privilege (2) No Right

(c) Power (3) Liability

(d) Immunity (4) Duty
<hl &

(a) IARFR (1) Tersrermar

(b) ferierpR  (2) IS HARHR Tl

(c) I (3) TRE

(d) 3R (4) HaA

(A) a-1,b-2,c-3,d-4

(B) a-2,b-4,c-1,d-3

(C) a4,b-2,c-3,d-1

(D) a-2,b-3,c-1,d-4

Which of the following best relates to

The Bracket Theory ?

(A) The only realities are the sovereign
and the individual. The other groups
cannot claim recognition as person.

(B) A corporation has a real existence

independent of the fact whether it is

recognized by the state or not.

The fictitious personality of the

corporation comes to have a will of

its own which is different from that
of its members.

The members of the corporation are

the bearers of the rights and duties

which are given to the corporation
for the sake of convenience.

frerfeafiga o & 1 @1 sehe firgia @ 3aw

Y Y GEA 8 ?

(A) THAT ITEdfehdl Ty 3T =fRE 8 |
I g Ak & €4 H A=Al B
Tra TEl R Hehd |

(B) Ueh =61 arafaes Stfedca 39 qe
Y W7 & fob I8 TSI gRT A= 9™
AT |

(C) frm & wreufis =afhed i 319
$=01 Bl & Sl 38 He&l % 3=l
fimade |

(D) Frm & Tew Afershil 3T el &
g BId & S giaen < fow fmg =6
feusma 2 |

©)

(D)



56.

57.

S8.

Which of the following is not true for
Animus possessendi ?

necessary to constitute possession.

(B) It is the intent to exclude others
from interfering with a material
object.

(C) It 1s not necessarily a claim of right,
it may be a conscious wrong.

(D) Claim or intend to use the thing as
an owner must necessarily be there.

frfafiea 9 @ <59 @ g T
fua@t iz ?

(A) 98 g wnfud & & fotw
ST Ak dcd I 3T 2 |
(B) $ET AR Th Wifqeh owq o 1Y

TEIETT T H GE I S8 H I 2 |
(C) ¥Z a2 €9 ¥ Tl I el 78] &,
g SIS ToTd 8l Tehdll ¢ |
(D) T HIfelsh & &9 § I 1 IUAT

HE T rET AT AW AGE 9 9
BT AT |

R vs. Dudley and Stephens is a leading case

of which of the following doctrines ?

(A) Damnum sine injuria

(B) Injuria sine damnum

(C) Necessitas non habet legem

(D) Actus non facit reum, nist mens sit rea

R W sst 3R =iwd F=fefaa & @
for g s @ are 2 7

(A) SHTH | SR

(B) I |TEH S5

(C) Jafbem™ =11 gu¢ «im

(D) THeE A1 ®ide W, & o= fge dan

Qui facit per alium facit per se means :

(A) One who acts through another acts

for himself
(B) Things speaks for itself
(C) Remoteness of damages
(D) None of them

g7

A e R swaT 2 |
(B) jgﬁamﬁmaﬁﬁ% |
(©) [ sh1 gTeerdl
(D) $TH & HI5 T2

%%ﬁzmm%ﬁzmﬁwwaﬁg
(A) ST G & H1EIH ¥ HE HAT 2 I8
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- 59.

(A) It is the mental element or the intent

60.

Match the Theory with the jurists, who
propounded them :
(a) Theory of Living Law (1) Kelsen
(b) Theory of Social (2) Austin
Solidarity
(c) Pure Theory of Law  (3) Ehrlich
(d) Imperative Theory of (4) Duguit
Law
forgra =1 =mniEEt & @y e ==,
e 378 wicufea fepam o
(a) Sl o 1 fag@d (1) oheed
(b) TN Tehaledl bl (2) 3Hfeed
forgia

(3) wgfefw
4) e

(c) i 1 g fagra
(d) I 1 AT
fagma

(A) a-3,b-4,c-1,d-2
(B) a-1,b-3,c-4,d-2
(C) a-3,b-2,c-1,d-4
(D) a-4, b-1,c-2,d-3

Which among the following is not true

for the doctrine of stare decisis ?

(A) The doctrine comes from the
principal stare decisis et Quieta non
movere.

(B) It means to stand by things decided
and to not disturb settled laws.

(C) The law must be settled by the court
lower to the court which is hearing
the subsequent case.

(D) All of the above.

w feehifim & faga & foe Fafafaa

YA A HEI R 8 ?

(A) I2 Taga fiftre v fedifem we
fereT 9 e A AT R |

(B) 35T Ao & dF i T8 =Sl W
HEE T AR TG HEET B
ST T8 AT |

(C) I i 38 AR § el =emed
g ¥ fpan ST =nfgw S §Te %

AT Shl FAaTE L @I |
(D) 39Tk @Y |

13 (Law)



61.

62.

The Sovereignty and Integrity of India,
as a ground to restrict freedom of speech
and expression, was inserted by which
Amendment Act ?

(A) 44" Constitutional Amendment Act |

1978

(B) 42" Constitutional Amendment Act %

1976

(C) 16" Constitutional Amendment Act
1963

(D) 15" Constitutional Amendment Act
1963

form amem stfufem % g e 3R
FAfreATh Sl TadT i Ufqaid & &
YR o €9 § WA ! TIYAT IR @S
o 3T feharm T ot ?

(A) 4431 dfaum genes stfufm, 1978
(B) 4241 @faum denes s, 1976
(C) 16at Gfaam T rfafam, 1963
(D) 15aT1 Gfaym gy A=y, 1963

Read Assertion (A) and Reason (R) and
give the correct answer by using the
code given below :
Assertion (A) : It will be wrong to
assume that the President is merely a
non-effective symbol.
Reason (R) : Under Article 74, the
President cannot ask the Council of
Ministers to reconsider the matter and
the President is bound by the advice
iven thereafter.
A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are correct and (R)
is not the correct explanation of (A).
(C) (A) isincorrect and (R) is correct.
(D) (A) is correct and (R) is incorrect.
(A) 3 SR (R) I UfeT R
= feu MU i T TR R TR ST G
ANTHAA (A) : Tg AH &1 Terd BT TR
TP hael Teh 3TIATE Tclieh 2 |

FRUT (R) : 3<0¢ 74 % d&d, UPAMd

nﬁcr&qaaﬁrrrqﬁqtgqﬁ%rr{?ﬂﬁé;f\aq

T g Thd IR TgATe 3Eh arg & T

AR AT © |

(A) (A) 3R (R) 3T T& & 3R (R), (A)
T & TIEH g |

(mwﬁ®ﬁw&ﬁ®m>
S TE TR A8 B |

@@wﬁﬁ®w®

(D) (A) T& 2 3R (R) TeId 7 |

13 (Law)

12

63.

Which among the following is not true
with respect to the Residuary power of
the Parliament ?

(A) Before
competency can be claimed for

exclusive legislative

parliament by resort to the residuary
power, the legislative incompetency
of the state legislature must be
clearly established.

(B)

The residuary power is intended to
take care of such matters as could
not be identified at the time of the
constitution-making

©

Residuary power is provided under
Article 247 and Entry 97 List I of
the Constitution of India

(D) None of them.

g 6t 7afe vk & ey § ffafad

YA A EEI R 8 ?

(A) 3Taf¥TE SRk *T TR o TG b
foru 3= faamft s <1 gran v |
e, U faumdea 1 faurh
JFAAT T T G TG H S
=R |

(B) AfTE With 1 32T UH HHA!
WM W@ 7, M= "fagm FEfe %
GHY YT g1 ST el AT |

(C) Jafyrs vtk YRd & @AfIg™ &+
e 247 3R wfafy 97 g=h 1%
T&d TGH I A § |

(D) &1 @ 18 T2l



64.

65.

Match the following :
(a) 1% Chief Justice (1) Espirit des
of India Louis
(b) Separation of  (2) K.C. Wheare
Powers
(c) Father of PIL (3) H.J. Kania
(d) Quasi-Federal (4) Justice
Bhagwati
Frferiie =1 fire i
(a) IRAHIYH (1) Tfoafe 2| oEd
Rt ERIRIBIN
(b) AT T (2) .4 &R
JYerh{U]
(c) S =feet (3) =S It
% b
(d) Fd-gem  (4) =rfd e
(A) a-3,b-1,c-4,d-2
(B) a-2,b-3,c-4,d-1
(C) a-3,b-1,c-2,d-4
(D) a-2,b-1,c¢-2,d-3
Match the following :
(a) Emergency (1) Bhikaji Vs.
under Article State of MP
356
(b) Reservationin (2) S.R. Bommai
Promotion vs. Union of
India
(¢) Rule against (3) M. Nagraj vs.
Arbitrariness Union of India
(d) Doctrine of (4) E.P. Royappa
Eclipse vs. State of
Tamil Nadu
freferfiga =1 firem i
(a) 3= 356 (1) fiehreft M
q8d ATITahRTA AL &3 TS
(b) U= (2) TH.IW. S
ST I 9 99
(c) TAOTH (3) . IS
e AT WA §9
(d) TS fagE (4) 3.9 TIom
oqTH
Y
(A) a-3,b-1,c-4,d-2
(B) a-2,b-3,c-4,d-1
(C) a-4,b-3,c-2,d-1
(D) a-2, b-1, c-2, d-3
13

. 66.

67.

. 68.

Which of the following Article of the
Constitution of India, talks about citizens
by domicile ?

WA o Hfae™ 1 FHefciRad W § F @1
=g AT GRI AFTHEhRdT < SR § &1d
HIAE ?

(A) Article/37q=8g 9

(B) Article/3TTe8¢ 10

(C) Article/31e8¢ 5

(D) Article/31T=8%¢ 11

Election Commission of India includes

(A) One Chief Election Commissioner
(B) One Chief Election Commissioner
and one Election Commissioner
(C) One Chief Election Commissioner
and two Election Commissioners
(D) One Chief Election Commissioner

and three Election Commissioners

R o TTa 3T | Sfret &

(A) T &I IHTE I

(B) Th H&I IATE HAYh IR Th I
T

(C) T & IAE AYH AR & I
EIR

(D) Th & A HYH AR A A
CIR

Which of the following is not essential
to issue Writ of Mandamus ?

(A) Legal duty of authority

(B) Refusal to do the duty

(C) Legal Right of the petitioner

(D) It lies against private individual

Freferfea o @ o a1 e e S
T % forT mmawes TE 8 ?

(A) STTeRRY 3T I heied

(B) haied i T hR BT

(C) wferehTehal T I TR

(D) =g fsht =afeh o foeg 2 |

13 (Law)




69.

70.

71.

72.

Principles of Natural Justice are not
applicable against which of the
following actions ?

(A) Rule making action

(B) Administrative actions

(C) Quasi-Judicial actions

(D) Judicial Process

TTehicreh =T < TgTa fefaiaad 3 & form
HHATE o fereg AT FET @ ?

(A) Tr=m s = SR

(B) IRTTE HEt

(C) I1ef-=iyes Tt

(D) =TRrek wfshan

Which among the following is not a
ground for judicial review of the
administrative actions ?

(A) Illegality

(B) Irrationality

(C) Proportionality

(D) None of them

Frefafaa & 9 9 o e w5t i

=ifiren Gefer b MU TE 8 ?
(A) Frwar (B) e
(C) AMUIfashal (D) 0 A HIS Tl

Who 1is known as the father of
International Law ?

(A) Jeremy Bentham

(B) John Austin

(C) Hobbes

(D) Hugo Grotius ]

TG HT o STh i & ?

(A) SRt som (B) S AT

(C) @I\ (D) =T W

What is the Germany vs. Poland, 1928
case popularly known as ?

(A) UN Administrative Tribunal case
(B) Nottebohm case

(C) Chorzow Factory case

(D) Mavrommtis Palestine Concessions

T SW qiels, 1928 T AHAT Al
w0 4 frEd SIS R 7

(A) TIH Y YRMTEFh ATATIIRTT HHEAT
(B) iesign hd

(C) dsita Shardt e

(D) wratH e fhforedi= famrd

13 (Law)
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73.

74.

Which among the following Convention
stipulates that the State as a person of

international law should possess a
permanent population, territory,
government, capacity to enter into

relations ?

(A) Stockholm Convention

(B) Montevideo Convention

(C) UN Convention on Law of Seas

(D) Geneva Convention

frfafaa & @ =9 @1 gwen fgif@
H 2 foh IR HT * T =ARh &
w9 H USY & UE Th QR AW, 8,
THR, T NG h &Har g
L

(A) e FHA

(B) Hiedifsn aeie

(C) T s W HYh Y T
(D) TS aeiem

Principles Jus Soili means

(A) Grant of nationality on the basis of
place of birth

(B) Grant of nationality on the basis of
blood relationship

(C) Grant of
naturalization

(D) None of these
Torgia @ gigeft shr St w7

(A) S99 ®H & YR W T JgH
EXCIN

(B) Th ©Y % MR W TTRAT Y
T |

(C) SNTNEhAT Y& hieh TEIFAT JeH T |
(D) T8 & g T

nationality  through



75.

76.

Mark the statement which is not true for 7

Asylum :

(A) Diplomatic Asylum is granted only g

in exceptional cases.

(B) Asylum stops where extradition or
rendition begins.

(C) Article 14 UDHR  provides
everyone the right to seek and enjoy
in other countries asylum from
persecution.

(D) Asylum is of three types namely,
Territorial Asylum, Extra Territorial
Asylum, and Diplomatic Asylum.

30 YA i TafeTd L S IR ¢ & fore

EHERER

(A) TSI IROT Shael STATYROT HTHAT H
SIS

(B) ¥T <& i & SArefl & el e A

198 ST I BT 8 |

(C) =55 14 UDHR & el =l &t
<IN A Icdied ¥ IR0 [T 3T o
TR TeH HLT R |

(D) YROT A TR H B &, TR
o, fafis WeReh IRUT 3T
TS RIeh IR |

Who among the following is the current
Indian Judge at the International Court
of Justice ?

(A) Raghunandan Swarup Pathak

(B) Nagendra Singh

(C) Dalveer Bhandari

(D) B.H. Loya

frafafea @ @ =9 3@ om0 aﬁﬁ;ﬁa
TS § AR =i § 7

(A) T T&Y IIS
(B) g f&g

(C) el e

(D) st.u=. e

15

77.

78.

The United States Government during
the signing of a treaty fails to recognize
the state of South Sudan as an
independent state, resulting in moral
injury to the political status of the latter
nation. The form of reparation available
before the US government is :

(A) Restitution

(B) Compensation
(C) Satisfaction
(D) All of the above

T G W gEAIER i o G ITHIEHT
TR GeJ01 YEH T o Teh TaA T3
® 0 A=l o d fowa @, Rees
iRy Wedt Uy 6 Toiifaes ferfd
&1 fcres <ie ol | STATER TR & THa
IueTedt ffergfd 1 &9 1 8 ?

(A) STeITEATI

(C) wdf®

TRIMS stand for :

(A) Trade-Related Intellectual Measures
(B) Trade-Related Investment Measures
(C) Trade-Related Intellectual Means
(D) Trade-Related Investment Means

TRIMS & T ared 8 7

(A) SR T g Sifgeh U
(Te-TieRe Feerregard Ad)

(B) SR & Fafd fes 3um
(Se-Tieide sraeeie Usd)

(C) SR T Fafrd Sifge ared
(F5-Tieics seeiregaret HiH)

(D) SR | Haferd fFas anega
(ge-ficiee gaiweHe i)

13 (Law)
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79.

80.

81.

The Latin phrase means to
form a customary rule, it must appear
that the state follows the practice from
the sense of legal obligation.

(A) Jus Cogens

(B) Pacta Sunt Servanda

(C) Opinio Juris

(D) Lex Soli

AfeTarm w1 319 U yuma e

ST R, T8 O @Ife fR Usa et
arRred shi WTSHT § T <hT T Ll @ |
(A) S Hiod (B) UaeT T Hael
(C) MU= Y@ (D) <o Frett

Which among the following
Conventions makes it an important duty
of the party states to implement ITHL ?
(A) Stockholm Convention

(B) Montevideo Convention

(C) UN Convention on Law of Seas

(D) Geneva Convention

frafeafea @ @ 9 @1 g9 HL
ST AT FFHR M 6 T T Ageaqui
ey ST S ?

(A) RThgm qeHeH

(B) Hicdifea arer

(C) FH T W HYh UY HHEH
O REEEIR = KE

Which of the following case forms the
basis of constructive liability under Sec
34 of Indian Penal Code ?

(A) Yunis vs. State of Madhya Pradesh
(B) Paran vs. State of Rajasthan

(C) Mahbub Shah vs. Emperor

(D) Barendra Kumar Ghosh vs. Emperor

frafafes § & =9 @1 awen wRdw g8

wfgan H g 34é?agata:rrwarﬁqr—cr
T IMYR AT S ?

(A) T S 9L TeW TS

(B) UM SHTH TSEAH T

(C) HEed ATE -H THW

(D) Sig FHHR E1Y SHH T

13 (Law)
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82.

Read Assertion (A) and Reason (R) and
give the correct answer by using the
code given below :
Assertion (A) : A, intending to cause a
theft to be committed, instigates B to
take property belonging to Z out of Z’s
possession. A induces B to believe that
the property belongs to A. B takes the
property out of Z’s possession, in good
faith, believing it to be A’s property. B,
acting under this misconception, does
not take dishonestly, and therefore does
not commit theft. But A is guilty of theft.
Reason (R) : The abetment of an
offence being an offence, the abetment
of such an abetment is also an offence.
(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are correct and (R)
is not the correct explanation of (A).
(C) (A) is incorrect and (R) is correct.
(D) (A) is correct and (R) is incorrect.
AR (A) 3R R (R) &1 ufgy 377
=1 TCT 1T TS T FART HT FaET SR G :
AHHAA (A) : A TR T o A 4, Z
% Heel § Z hl HUN o & 7T B I
3IHETT 8 | A, B &I ¥g favam feam &
foTe Uit tar g T @ufd A 1 8 | B
geTa ¥ Ui ol Z & heal & TIehTel Aa
2, g Tavamm % g % a8 A 6 gufa
2 | B, 39 TiolaheH! & d&d hil i gL,
A T T 7, IR gEfere IR T
HAT 8 | Afehd A TR HIQNT 7 |
HROT (R) : et 31oer & foru Ishamn
Y B, WO ST & forg sshamn off wh
AT R |
(A) (A) 3 (R) gH1 @&l € 3 (R), (A)
T TE! TSR R |
(B) (A) 3 (R) Tl 7l & 31 (R), (A)
T e TSR R B |
(C) (A)Terd & 3 (R) TAR |
(D) (A) W&l 8 3R (R) 7T € |



83.

84.

The maxim ‘actus me invito factus non
est mens actus’ means :

(A) He who seeks the aid of the court

should be the first to prove his act
that he has a case.

(B) An act which is done by me, against
my will is not my act, and hence, I
am not responsible for it.

(C) False in one act, false in all acts.

(D) Facts must corroborate with the act
done to prove the act.

itk “Taed Wl 318 B M TR 7

THRd R AT TR ?

(A) =8 S JeTeTd sl HERIal =gl &, 3
Y Tge] 3104 HI I A BT
TR foh ITRT AHEAT ST ¢ |

(B) W gRT 98 =01 & faeg fepam T
% T % TE @ 3R gEfere, § gHes
fore e =81 § |

(C) T Fed H TTerd, T+ el | e |

(D) % @1 wfeq B 6 o et B

TeRU 0 TRl & g e =M |

Which of the following is not true for the
offence of abduction under Sec. 362 of
IPC ?

(A) In abduction the question of taking
or enticing does not arise.

(B) Abduction is not a continuous
offence and ends with the removal
of the person.

(C) In abduction force, compulsion, or
deceitful means are used.

(D) Free and voluntary consent of the :

person abducted condones abduction.

1.2 9. I 9R 362 % da&d, I &
Y o foru Freaferfiaa # & i &1 el |

TR ?

(A) TUE | & S AT FHAH T FaTA

Bl &1 3341 |

(B)W@ﬁwmﬁéaﬂt

=Ttk ®I g2 & T1Y GO AT R |

(C) I8 H 9, ﬁa“ﬂmmwmﬁ

AT T TN foRaT ST @ |

(D)Wwﬁﬁaﬁwﬁasﬁté%mg

Hgafd U8 i THR HLdl 2 |
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86.

To constitute the offence under Section
121 of Indian Penal Code, which of the
following ingredient must exist ?

(A) Accused must wage war.

(B) Accused must attempt to wage war.

(C) Accused must abet the waging of war.
(D) Any of the above

TR €8 dfgar &I g/ 121 % dgd,

JTUY T T34 hid o foru, FAffga a8

I |1 T2 HiN[g BT ITMET ?

(A) ST 1 g DT 1T |

(B) AMTH &I Ig B4 &I TAE HEAT
=Y |

(©) ﬂﬁqﬁzﬁ%ﬁ 3¢ B ¥ forw i@
(D) Wk § ¥ s ot

A, residing in Calcutta, is agent for Z,

residing at Delhi. There is an express or

implied contract between A and Z, that

all sums remitted by Z to A shall be

invested by A, according to Z’s

direction. Z remits a lakh of rupees to A,

with directions to A to invest the same in

company’s paper. A  dishonestly

disobeys the direction and employs the

money in his own business. A has

committed which offence ?

(A) Criminal Misappropriation of Property

(B) Criminal Breach of Trust

(C) Dishonest Misappropriation
Property

(D) Forgery

HeAhdl H T8 a1e1T A, Teeett § &1 91t Z

HT T B | A 3 Z & &= Teh TE 7

foafera dfeaer 2, 75 7 g0 A &1 3fva @t

TR Wi Z % 3w % 3ER A gy e

Topan STwm | Z ot o U H few R

36w & Ty A 1 TH AT TR U B |

A AT 8 Y i STaEerT T 7 3R

T ol I HIUE H AN 2 | A 3 HH

o1 3790y fhan g 7

(A) G 3T ST Gloi AT

(B) SATHTYeh =T&

(C) &t o1 sigAT & gfedf=m

(D) STeAETsi

of

13 (Law)



87.

88.

89.

By which Amendment Act, Section
326 A and 326 B was inserted in IPC ?

(A) Criminal Law Amendment Act, 2018
(B) Criminal Law Amendment Act, 2016
(C) Criminal Law Amendment Act, 2014
(D) Criminal Law Amendment Act, 2013

Torg Teneq rfafEm g We . § 9

326 A 3T 326 B 31=-=1fua o1 778 off ?
(A) ITierss fafer dener arfefm, 2018
(B) arieres farfer damem srffem, 2016
(C) ITmrerss fafer wsmer arferfem, 2014
(D) Jaarieres farfer wenem srfefem, 2013

Under Sec 489 A of IPC, the punishment

for counterfeiting currency-notes and

bank notes is :

(A) Imprisonment for life or 10 years +
fine

(B) Imprisonment for 20 years + fine

(C) Imprisonment for life or 20 years +
fine

(D) Imprisonment for 7 years + fine

WIS, i U489 A % T&d, HLei-1el
3R S 1T o FHehoT & fole P TR ?
(A) 3G AT 10 T 6T HREE + AT
(B) 20 ITSA &1 HIETE +

(C) 3TTSIEH AT 20 T T HREE + AT
(D) 7 9T <hT shTdH + gqi:u

A, a landowner, knowing of the
commission of a murder within the
limits of his estate, willfully misinforms
the magistrate of the district that the

death has occurred by accident in
consequence of the bite of a snake. A is

90.

guilty of the offence under which of the ;

following sections ?

Teh STHiER A 379t SR <A1 &ieT &6 ofide 91.

T BT % Hed hl IHd ¢, A H |

HEEE Wl THIHR
Tfa & e 6
TaIA

AT HT G 2 ?
(A) Section/9T1 174 IPC
(B) Section/em1 175 IPC
(C) Section/g 1 177 IPC
(D) Section/e1 178 IPC

% IS 9
o 9 forg 90 % d8d

13 (Law)
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Which of the following is true with
regard to compensation as per Victim
Compensation Scheme under Sec 357 A
of Cr.P.C.?

(A) Compensation is awarded when the
offence is proved against the
accused.

(B) Compensation is awarded when the
injury to the victim has been proved.

(C) Awarding of compensation is
independent of proving of guilt of
the accused.

(D) The amount of compensation cannot
exceed the amount of fine provided
for that offence.

2.4, $l g 357 A & dgd, difed

AT ASHT o ITTIR G o daeg |

frafafaa i a s madi 2 ?

(A) I & faams sy arfsa g+
TR g3t e Sman 2 |

(B) Hifed =1 =e @ifed g T gITTast
fem a2 |

(C) T3S YEH ST SR h Y
% Hifed gH & Wad ¢ |

(D) g3Tas i TR 3| 3wy & o

YoM fopu U Sm i afyr @ il
& &1 Fehel |

is the improper performance
of something which a person should
have done properly.

(A) Malfeasance (B) Misfeasance
(C) Non-feasance (D) Neglect

xS % agfua veeh R
518 weh =afth 1 Sl T T =nfge o |
(A) g=hd (B) 319
(C) 3FHld (D) Juem

u]



92.

The law conclusively presumes damage |

in violation of an absolute right because

under law of torts violation of absolute

right :

(A) is actionable per se (i.e) without

proof of any actual damage

(B) is actionable only on proof of

damage

(C) is actionable simply by prima facie

establishment of the cause of action

(D) puts the onus of proof on defendant

to establish that no right of plaintiff |

is violated
HiE s 9 9 Tk g AR %
Seote 1 &fd Wil 8 Hifeh HATHed HI
% q8d U1 TR 1 Iecre:
(A) foreft areafass afa o de@ < fom off
SHRIETE A 2 |

(B) hadl & o Hed T HRIATE I ¢ |

(C)Waﬁgmquwwé

HEATE AT 7 |

(D) T W e % fore o it % et |

%ﬂafwaﬂwmqﬁgm%,

T T SIRIed feaTe] W gTetdr & |

93.

In cases of volenti non fit injuria, a
person who has consents to bear the risk
of an act, cannot complain for the injury
so sustained. The standard of consent
speculated by tort law for application of
this maxim is that the consent shall be:

(1) Real and valid

(1) Must be given by the person having
capacity and competency

(i11)) Voluntary and based upon adequate
information

(iv) limited to the act and its immediate
consequences

(A) Only (i) is correct.

(B) Only (i), (ii1) and (iv) is correct.

(C) Only (i), (i1) and (iv) is correct.

(D) All are correct

S T fee dgfon & e §, w
=fth e e fopet Rt % Sifem i
& T 1 HEHd 8, 98 36 WE I e

< foTu ferehrra & ot Tehd | 39 Hfh I
AR F o TIT 3T9hed T g Hicud
TEH(d o1 7 IE & fob wemfa gt
(i) oTEdfaeh 3T Ay
(i) &HaT 3R a1 W I ARk gia
CUSIEIRCHEY
(iil) TS 3R wTH TS W 3nenia
(iv) 1 AR 3H$ 3HT UROmH dh
Hiftra
(A) e (i) TR 2 |
(B) e (i), (iii) 3 (iv) T&1 2 |
(C) had (i), (ii) 3 (iv) T & |
(D) B & 2 |
13 (Law)



94.

9s.

For torts of defamation, the defence of
privilege applicable to proceedings of
parliament, judicial proceedings,

proceedings of military or naval tribunal |

is called as —

(A) Conditional Privilege

(B) Qualified Privilege

(C) Absolute Privilege

(D) Restricted Privilege

AHEH o 39 o oW, HEE H
SRR, TR% SRR, 8 a1 Tafw
AR 6t HEETE W AR B 9T
feraremfireh <At TaT BT T haT ST & 2
(A) F3Td TR R

(B) 3feq fasmferer

(C) qoui fommmfrerr

(D) wfaafera fermmferer

In relation to remoteness of damage, the

test of foreseeability was established

against test of directness in the case of-

(A) Re Polemis and Furness, Withy and
Co. Case

(B) Overseas Tankship (UK) Ltd. v

Morts Dock and Engineering
Company

(C) Jolly v Sutton London Borough
Council

(D) VacWell Eng. Company Ltd v BDH
Chemicals Ltd.

gfd H UM % HEY H, T
Tlieor o foeg quaRial %1 waw fheh
A | €ATIIq fear T T ?

(A) L TifHE U g, foefl Ug ot d

(B) Siorefist e (3eh) ferfires s

(C) ST S T2 oied S SIS

(D) Aeier <t st fefres |

BDH st forfies

13 (Law)
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96.

97.

98.

The principle of non-natural use of land
in the case of Ryland v Fletcher was
given by :

(A) Lord Cairns

(B) Lord Marshall

(C) Lord Macmillian

(D)_Lord Denning ]

TR S Fele’ o ATl H 9 o -

e 39 1 fagia feRees g fean

TATAT ¢

(A) IS H (B) WIS ™A

(C) & Bl (D) e sfHm

The doctrine of Sovereign Immunity and

its effect thereof on the liability of the

State is that with the passage of time the

doctrine has been given —

(A) a liberal interpretation making State
accountable for various acts

(B) a strict interpretation ousting the
liability of State for various acts

(C) an interpretation that has changed
the essence of doctrine in terms of
measuring of State liability

(D) None of the above

gy ufaeen 1 frga 3 T & gl

T gHeh T9T € © b A ofiad % @

fogradfeans -

(A) Toftrm et & foIT U= =1 SaTecE
S STt SR ST |

(B) o el o foru s i aan =l
ST i el & ST |

(C) =& sTEAT forg Tse Sl <l bl AT
& A1t 7 firgid o R 9ed fen @ |

(D) 39UH | A hIS A&l

Who among the following can be the

complainant as per the definition clause

of the Consumer Protection Act ?

(A) Any voluntary consumer association

(B) Central Government or State
Government

(C) Central Authority
(D)_All of the above

IUNIRT TR0l Jrtafrm i gl @ %
31gER fFrefafad § & s frerrdsdat g
ThaT g ?

(A) i3 ¥t Tz Iue 99

(B) g TTHR IT TT TR

(C) heiir sTfererom

(D) 3Tk G+t




99.

100.

Compensation for No-fault Liability

under Section 140 of the Motor Vehicle !
for the accident !

Act is R
resulting in permanent disability and

for the accident resulting in
death.

HieX aTed Afuf=m i g 140 % q8d
Al-Whice ARSIl % T ghe % fag
LK g o afomreesy
A forehemTaT 1 ST B 3T gHedT %
TmEET g g s foe:  #

(A) 50,000 &/37% 1 Lakh/eTr@
(B) 75,000 &/37R 1.5 Lakh/aT@
(C) 25,000 &/3TR 50,000

(D) 30,000 &/3TR 75,000

or provision of services, at a price which
is below the cost, as may be determined
by regulations, of production of the
goods or provision of services, with a
view to reduce competition or eliminate
the competitors.

(A) Dominant price

(B) Exorbitant price

(C) Illusionary price

(D) Predatory price

means the sale of goods

F0 71 e B T FE A g d
eI & Ieare A1 HaTS % JrEHH h
faferdt gro fraffea emma & % Hma o
TEGI B e A F IEEH TR |
(A) @ HId

(B) 3Tcafers shimd

(C) YT =higd

(D) NI & 4 HIAd
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101.

102.

Which among the following is not an

enforceable contract ?

(A) A supplies B, a lunatic, with
necessities suitable to his life and
wants to be reimbursed from B’s

property.

A for natural love and affection

promises to give his son, B

% 5,00,000. A puts his promise to

pay B in writing and registers it.

A, the master compels B, his

servant to sell B’s property worth

5 lacs at ¥ 2 lacs.

(D) A advanced money to save B, a
minor’s estate from execution.

frfafga 8 @ = @t w yadhig gfaer

TEE 7

(A) A T UNTA B &1 3Hh Sfad o folw
SR STTEvIRaTaTi i (A il &
3R B st gufa & ufaqfd s =mear
2

(B) WThfaeh @R 31 T8 & forw A 31
¢ B &1 T 5,00,000 < <1 dTET HLdl
2 1 A, B &I YAH S 1 39T d1e1
fafiga =7 & w1 8 3R 30 WSl
HA 2 |

(C) A, Hifetsh, B, 3794 Tk I B I T 5
ARG I G 1 T2 A F a=H %
o wrore e @ |

(D) “rafert B &t Tufd w1 fAwares @
T % T A 9 IUREATR |

Agreement to do impossible act is
governed under what section of the
Indian Contract Act, 1872 ?

G B HH B PR TAT e
Jrterfem, 1872 &t fohH 90 & A=
e BT ?

(A) Section/gT 44 (B) Section/9TRT 53
(C) Section/gnT 54 (D) Section/9T 56

(B)

©)

13 (Law)



103. Read Assertion (A) and Reason (R) and

give the correct answer by using the
code given below :

Assertion (A) : A, a fruit vendor, leaves |
fruits at B’s house by mistake. B treats

the goods as his own. He is bound to pay

A for them.

Reason (R) : Where a person lawfully

does anything for another person, or

delivers anything to him, not intending

to do so gratuitously, and such other

person enjoys the benefit thereof, the

later is bound to make compensation to

the former in respect thereof, or to

restore, the thing so done or delivered.

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct and
(R) is not the correct explanation of
(A).

(C) (A) is incorrect and (R) is correct.

(D) (A) is correct and (R) is incorrect.

MR (A) 3T HRUT (R) I UGT 3

= T TTT i T JERT ohT TR ST G :

ANTRUA (A) : Th %A fershal A TTord! @
B % B %el BIg odl § | B ATt I
39T AHAT & | 98 3 1T A Wl
ITAH T o ol F1eT 7 |

HRUT (R) : & U ARk ST &9 4
fret 31 =Rk & fow o8 oft
g, A W Fv ff feefim & g,
AAfehd UET ST T el o Tl 2
3R WET 3 Ah 39T A9 33Tl
2, JTETqEd! 38% HeY § qead!
AT ¢, A1 W fRY T HE @
fecfier fopd w™ 1 w81 3 &
fauamer g |

(A) (A) 3R (R) ST W & 3R (R), (A)
1 &l TR ¢ |

(B) (A) 3 (R) GHT ®El & 3 (R), (A)
1 FE TR TR 7 |

(C) (A)TTerd 8 3 (R) HET § |

(D) (A) W& 8 3R (R) T 2 |

13 (Law)
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104.

10s.

106.

107.

When the agent has an interest in
subject-matter, the agency can be
terminated under what Section of Indian
Contract Act, 1872 ?

TS Taie I ﬁ'ﬂ'&ﬂ?f\ﬁ T gran 7, A1 T
o1 IR Afeer Atafem, 1872 i fha
U o & THTS TR ST Hehel1 B 7

(A) Section/9TT 201 (B) Section/9TRT 202
(C) Section/9RT 203 (D) Section/dRT 204

Which among the following is not an
implied condition in a contract of sale ?
(A) Condition as to wholesomeness

(B) Condition as to quality or fitness

(C) Condition as to free from
encumbrances
(D) Condition as to the merchantable

quantit
Pttt & & i o Rl & e A
fifga wd i 2 7
(A) WfSehar i v1d -
(B) gmammiﬁaaﬁa
(C) YR IRl & Yeh B <l 31
) REEREIEIEIRI]

Section of the Limited Liability
Partnership Act, 2008 imposes unlimited
liability on the partners for committing
fraud or acting with intend to defraud the

creditors.

a"lﬁ?r Il wrlierl Afefem, 2008
%ﬁ@m@ﬁ HE AT AICR Bl

%ﬁ@n T R A e HQ F forw wpfterd

TR 3T eFar e B |

(A) 29 B)30 (C)31 (D) 42

Where the holder of an instrument

endorses it in a manner that does not

incur any liability as an endorser, such

endorsement is called as :

(A) Conditional Endorsement

(B) Unrestrictive Endorsement

(C) Sans Recourse Endorsement

(D) Restrictive Endorsement

BEAGRIRS SS A N
Il 81 =» ¥

< el SaT B, UH YEieh I F1 HeEl
SR ?

(A) 99T BT

(B) mﬁafaﬁw

(C) T <TRre < gsTeRd

(D) uﬁawqmr—r




108.

109.

110.

111.

Which form is to be used for nomination 7

by security holders ?

S T e e e e

1 3TN feRa ST 8 7
(A) SH 10 (B) SH 11
(C) SH 12 (D) SH 13

As per the Companies (Amendment)
Act, 2020, a meeting of the board shall
be held not less than one in every
months, and at least

meetings shall be held in every year.

Hut (Tene) rfafrEm, 2020 % FIER,

such

S HIdoh W TEHI § TH ° HH
T Enft, SIFH T A U 9SF
ek 9y SIS ohl STae |
(A) 3,4 (B) 4,3
(C) 4,4 (D) 2,4

It is a mandate on the companies

covered under Section 135(1) of the

Companies Act to spend % of

their net profit over the proceeding
years as per the CSR Policy.

st srfufrEm <t g 135(1) % d8d e
I T FHUf=IT ! CSR ifd o AR 370
g AT B % HREBK Nl A
W U 1 AT B |

(A) 3,2 (B) 4,2

(€) 2,3 (D) 2,4

113,

Judicial Separation under the Hindu |

Marriage Act, 1955 is done under

forg faame  srfufrem,
TR gerahT ferdeh 31¢fH fopar STam 2

(A) Section/g T 7 (B) Section/9THT 4
(C) Section/9RT 3 (D) Section/9RT 10

1955 eaaﬁ?r;
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112.

A Hindu boy and a girl elope from the
native place, come to a big city, due to
fear of persecution by the close relative
and conservative society of their family,
go to the temple and exchange garlands
in presence of some devotees. They then
start living as a married couple in the
vicinity of the temple, by taking a small
residence on rent. The friends of the
couple and their neighbours treat them as
husband and wife, as they have no reason
to presume that they never underwent any
formal ceremony of marriage. Which
among the following is correct ?

(A) It is a Shastric marriage.

(B) Itis a customary marriage.

(C) They cannot take the status of

husband and wife.
(D) It is a voidable marriage.

T feg TTeh! 3T Tk rgshl Ugeh wH |
IR, Teh < &L H 37Td 8, 39 TR &
Wﬁ?ﬁmaﬁ?mmmm
% T AU AT & 3T F whl 6 sufefa
¥ Teh GEL ol HICll &1 & | 38k oG o
TfeT o HIH & & T U W T B
T I okt Ush feaiad S o &9 1 &
A 2 | ITA b g 3R ok TSIEl 3=
gfg 3 geil % &9 § A4 2, Fifh b
19 g |- 1 his HRUT T8 & b IgH
wof} ot ot < ferelt 3faeniies Tl Wi
T forn | Fafafgq da s madi 2 ¢
(A) I8 T AET a8 7 |
(B) IE T JUTTA foag B |
(C) o ufd—ucit o1 g1 &1 of Hehd |
(D) I8 T I foamg B |

Which among the following is the
special ground for divorce exclusively
available for wife under Sec. 13(2) ?

(A) Desertion (B) Cruelty

(C) Conversion (D) Bestiality

TR 13(2) o d&d hael Uil o oI Uty
AT o foIQ Fferiad | & A &1 foaem
JMURE ?

(A) AT
(C) S

(B) sptdl
(D) uTSTferehal

13 (Law)



114.

115.

In which of the following case the
Supreme Court of India has settled the
position that live-in relationships in

India are legal but subject to caveats like |
age of marriage, consent, and soundness !

of mind ?
(A) Prakash Kumar Bachlaus vs. Chanchal

(B) Badri Prasad vs. Dy. Director of
Consolidation

(C) Independent Though vs. Union of
India

(D) Venkatacharyulu vs. Rangacharyulu
frferfiea o & fopg Wt ® WRA & HaA

e | 98 feafa fuifa 6 @ 7 awa
¥ fote-37 w9 S @ Sifeh 2t <6l 39,
Tgafd 3R @WEy o St IdEtE &
R ?

(A) THT HHAR Thei ¥ ST F=et

(B) S5 STG ST el 3u- ek
(C) 3fsuee gf a9 wrd ¥9

(D) deherad - TT=Rd

In which among the following landmark
judgments, did the Supreme Court held
that the foreign courts have the jurisdiction
to pass a decree in matrimonial issues and
it is enforceable in India ?

(A) Satyavs. Teja

(B) Pratima Sen vs. Sajal Sen

(C) Surinder Kaur Sandhu vs. Harbax

Singh Sandhu
(D) Siddhartha Sharma vs. Neha Sharma

Frefefan & @ Fea e B,

ot <A | I8 91 fon foresht stererat
# Jafes el § fesht W@ & W
HATIhR 2 3TR T5 WA H AT HH T 2 7
(A) T ST ST

(B) SfeHT 89 s Tt T

(C) GRS PR &Y &M e fifg |y
(D) fagre st s g wmi

13 (Law)
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116.

117.

Where it is not settled at the time of

marriage that the dower is to be prompt

or deferred, then according to Shia law

(A) The whole is prompt.

(B) The whole is deferred.

(C) Partially it is prompt and partially
deferred.

(D) None of the above

STt ot % T TE 91 T e § R e

iter a1 foetfora ST 2, <t form s & 18R

(A) TR |

(B) T frafoa 2 | .

(C) TIfIeh &9 | g e 3R A6 &9
¥ fycifaa g

|
(D) IIeh H § g Tl

Read Assertion (A) and Reason (R) and
give the correct answer by using the
code given below :
Assertion (A) : All inheritance rights of
the adopted child ceases in the family of
birth and are recreated in the adopted
family from the date of a valid adoption.
Reason (R) : If any property had already
vested in the child, prior to his adoption, he
is capable of carrying it to the new family
and would not be divested of the same.
(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are correct and (R)
is not the correct explanation of (A).
(C) (A) is incorrect and (R) is correct.
(D) (A)is correct and (R) is incorrect.

JAHYT (A) 3R HRU (R) i ufgr 317
i<l feu 7 g =1 =T R 9l IR G
aAfRAA (A) : T foTT T s % wf
IAUFIHR AR S 6 UNER § AT
Bl STd 8 3 Tie o a1t aRar 8 9y T
AR TG Y S IR |

FHROT (R) : F(¢ e o & 98] a1 § his
gufd ggat @ & fafga oft, @ 98 3@ U
IiER § o 99 ° 9 8 3N 39 Igd
éﬁﬁqﬁﬁwwﬂj ‘

(A) (A) 3 (R) g1 &&t § 3 (R), (A)
1 He] TTETHI € |
(B) (A) 3 (R) GHI @&l

ARk i
(C) (A)TTeTd 8 3R (R) T&1 8 |
(D) (A) W& 2 3 (R) T 2 |

g 3 (R), (A)
|



118.

119.

120.

Murderer is disqualified under which |

Section of Hindu Succession Act ?

B Teig ITriRrepr Afarfer <6t fpg e |

o d8d A8 ?

(A) Sec/dgTa 20 (B) Sec/dm 25

(C) Sec/dgm1 26 (D) Sec/4gm 28

What is the age of the majority for the
purpose of making gifts under Muslim
law ?

(A) Attainment of puberty
(B) Attainment of eighteen years

(C) Completion of twenty-one years, if
under a certified guardian

(D) Both (B) and (C)

yfeem fafyr & ded STER 1 % W@ @

TIEHAT HI ST TR ?
(A) e
(B) 3T3WE HTA T B W

(C) swhiE ad R BN W, Afg ymrforg
ATEh o A0 &

(D) (B) 3R (C) qH

Which of the following Article of the

Constitution of India talks about the !

Uniform Civil Code in India ?

e 5 e 1 Pt d @ A
e WA H T i e F AR A |

A HLATR ?

(A) Article/3TT=5g 42
(B) Article/3TT=8¢ 43
(C) Article/3TT=7g 44
(D) Article/3TT=87g 45
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121. Sec 2 of Environment Protection Act

1986, defines hazardous substance as:
(A) The presence in the environment of
any treated environmental pollutant.
Means any solid, liquid or gaseous
substance  present in  such
concentration as may be, or tend to
be injurious to environment.

(B)

(C) Means the manufacture, processing,
treatment, package, storage,
transportation, use,  collection,

destruction, conversion, offering for
sale, transfer or the like of any
substance which has chemical or
physico- chemical properties.

(D) Any substance or preparation
which, by reason of its chemical or
psycho-chemical  properties, or
handling, is liable to cause harm to
human beings, and other living
creatures, plants, microorganism,
property or the environment.

TATar EREIUT JrfufEm, 1986 i €W 2

AT TSIt ol 39 JehR TRHTYT hid!

2

(A) TFet off So=f@ wTeRT Sgwes <l
STTeRr J I9fefa |

(B) 38T Haoie Tt off 39, ote =
e yered <t 39 drgar #§ Iufefa,
EIRRICIU R K I EEate R e C |
BARN R |

(C) 38R 1d TaHior, JEwRtr, UK,
Yops1, WSO, YaEd, TN, HUE,
fommer, wurawon, fesht St UseR,
FEATAOT A1 T his oft ueref B forew
T =1 o —TEmfe o R |

(D) ®5 i uee = Wl SN, 3@
T AT FA-THRS O, A1
e & SR AT 3R 37 Sfaq
o, ol gewsiai, "@atd Al
TRVl I JHAM UgEaH % o
e 2 |
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123.

At the first United Nation Conference on
the human environment held at
Stockholm in June 1972, twenty-six
principles were resolved in

on human environment.
(A) Grund Norm (B) Magna Carta
(C) Basic Structure (D) Fundamentals
S 1972 H WiheM # ARG HHG
TRl T U T AP THHe H, TreH
T TedTd firgial 1 Gehou R T, T

A YA W &% ®9 § M
ST 2 |
(A) T gr=ram (B) 3ferepR-ux

(C) 3MTieh 81 (D) o a

Supreme Court in which case, for the
first time evolved a new principle of
labour environmental jurisprudence for
the protection of ancient monument ?

(A) Municipal Corporation, Ratlam vs.
Vardichan

(B) M.C. Mehta vs. Kamal Nath
(C) M.C. Mehta vs. Union of India

(D) Amarnath Shrine, In Re vs. Union
of India

the ¢
conference, which are known as the :

AT 1 Teh 41 fargra forepfara femam 7
(A) TR fm, Taam™ s 9=

(B) TH.H. HEdl S et A1

(C) .. Hgan s WRd 99

(D) STTHATY #7834, 3 L S =4 AT

3fean

13 (Law)
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124.

125.

The Environmental Clearance Regulation,

2006 provides for four stages of prior

environmental clearance processes for

new projects and they are :

(A) Stage 1-Screening, Stage 2-Scope,
Stage 3-Public Consultation and
Stage 4-ASppra1sa1

(B) Stage 1-Scope, Stage 2-Screening,
Stage 3-Public Consultation and
Stage 4-Appraisal

(C) Stage 1-Screening, Stage 2-Scope,
Stage 3-Appraisal and Stage
4-Public Consultation .

(D) Stage 1-Screening, Stage 2-Public
Consultation, Stage 3-Scope and
Stage 4-Appraisal )

RRICIURT il , 2006 T3 TTEISIS

% fofu gd wfawer w5l wfwaneti & =R

T T YT HLal 8 IR §

(A) = |--TgdTel, =X 2-hri -8,
O 3HEER WA 3R =
4-

(B) =RUT 1-$R-&H, =01 2-SA9-USdTd,

WO 3-FESh THY 3T =W

4-TcaTeh
(C) = |-SATE-TSdTd, =01 2-HR-&,
T 3T 3TN =T 4-ATdI b
AU
(D) = |-AF-TSdqTeA, =0T 2-FTeA (b
TEs, WO 3-hR-gE FHR =
4-VcaTeh
Section 14 of the National Green
Tribunal Act provides that the tribunal
shall have jurisdiction on all the civil
matters where a substantial question
relating to environment is involved. In
which among the following legislation,
this power is not vested with NGT ?
A) Forest Conservation Act, 1980
g% Public Liability Insurance Act, 1991

Biological Diversity Act, 2002
(D) Wildlife Protection Act, 1972

penbeauiicibiEpERCca IS
14 5 yraere g fop =mafereptor & ure meft
fafoe ol W SR &9 B wat
TRl § GEfd s EEERIIE
gl | fefafea @ @ feg stufem 4, a8
vIfth NGT # fafga w€i 2 7
(A) o= Teqor arfafam, 1980
(B) HTeSIeh grfered s arfufrm, 1991
(C) Stfaes fafaean srfaf=m, 2002
(D) F=Isfia ERegur Afafem, 1972



126.

127.

The idea of three generations of human
rights was introduced by
(A) Winston Churchill
(B) Karel Vasak

(C) Cesar Chavez

(D) None of the above

aHaTeeRrl i dq fifea w1 foEwr
R U fopam e o |

(A) Taeea afia

(B) R IEh

(C) SR =mas

(D) I H § IS Tl

Read Assertion (A) and Reason (R) and
give the correct answer by using the
code given below :

Assertion (A) : Human rights are built
on the idea of wuniversalism and
internationally agreed wupon values,
standards and rules which aim to
regulate each state and its citizens.
Reason (R) : Cultural relativists argue
that cultural change cannot, and should

not be forced on to anyone, which is the

aim of human rights.

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct and
(R) is not the correct explanation of
(A).

(C) (A) is incorrect and (R) is correct.

(D) (A) is correct and (R) is incorrect.

(A) 3R HRIT (R) i UfgT 3R
Frer feu T hig 1 T o HE SR G
ATHRAA (A) : A IR T eifEesar
% o T ST 0 & 3R STaUEe &R W
i, A 3R oMl | wgwa & e

ﬁwucﬂ%{lwﬁ'{d{‘l%waﬁé

fafafa s g |

RO (R) : il HUETaie 1 e &

f

a2, 3R A & 9T S =R, S A

AT hT1 32T 2 |

(A) (A) 3 (R) 21 T & 30 (R), (A) |
wm% H

1 Hal

(B) (A) 3 (R) gHI &l % 3R (R), (A)

T Hal TSR
(C) (A)W%aﬁI(R)lﬁ"f%l
(D) (A) T 2 3N (R) ToId 2 |
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- 128.

129.

Which among the following treaty
bodies is responsible for monitoring
ICCPR ?

(A) Committee on the Elimination of
Racial Discrimination (CERD)

(B) Human Rights Committee (HRC)
(C) Committee on the Elimination of

Discrimination  against Women
(CEDAW)
(D) Committee on Economic, Social
and Cultural Rights
FrefaRed 5 @ %M @1 9fY %™ ICCPR
&1 frmrht & fore former 2 2

(A) T SguTa I |fHfd (CERD)

(B) HHATERR dfdfd (HRC)

(C) HfgeT3Ti o foreg Wewra I e dfufd
(CEDAW)

(D) 3feh, @mIRe 3R FEhfdH
Jrferepr wftrfa

Whether the right of self-determination
of people is a Human Right ?

(A) No, it not a Human Right.

(B) Yes, it is partially recognized under
ICCPR.

(C) Yes, it is protected under UN
Charter and ICCPR

(D) Yes, it is partially recognized under
ICESCR

FAT AT o SATHMYRT T HAfTHR A

AP R 7

(A) &, T8 TR T8 7 |

(B) &, I8 31f¥es ®7 ¥ ICCPR & d&d
AT ITH 2 |

(C) &, 98 " Uy =T 3 ICCPR %
TEd a2 |

(D) &, a8 ICESCR % d&d 31if31es &9 |
HI=d1 9T 2 |

13 (Law)
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131.

132.

National Human Rights Commission of
India is a statutory body constituted on

(A) 12 October, 1993
(B) 12 October, 1994
(C) 12 October, 1995
(D) 12 October, 1996

IRd &1 TP THFETUhR AR Th
gifaferes e & e e
ol feramman 2 |

(A) 12 3RS, 1993
(B) 12 3Tags, 1994
(C) 12 3T, 1995
(D) 12 31, 1996

By means of which of the following
laws, did India for the very first time
recognized the Intellectual Property
Rights ?

(A) The Trade Marks Act

(B) The Copyright Act

(C) The Patents Act

(D) Trade and Merchandise Marks Act

freferfea & @ fopg sMF & g1 v |
@%wmmﬁwﬁw
ARIERK

(A) o8 " JAferf=m

(B) shidrrse 3rfarfem

(C) e HAferfrm

(D) ¢S TS HSEH HIaH UFe

Who among the following propounded
the Labour theory and was of the
opinion that a person who labours upon
resources that are held in common has a

natural right to the fruits of his efforts

and the state has the duty to respect and |

enforce that right ?

(A) Locke (B) Bentham
(C) Kant (D) Hegel
ffafea 4 @ feeq om fag@

itk S 37 TEYUA W HH Kl 8
e B §, 3H% TIE % Bd

col
uﬁqﬁﬁwwﬁiwﬁweﬂ%fﬁ%
&l

i

H

ST e 2 2 o T A |

%%%waﬁwwwaﬁaﬁwﬁ
AT 7
(A) s
(C) 1

(B) sSuH
(D) &
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133.

134.

135.

India is not a signatory to which
International agreement ?

(A) Locarno

(B) Hague

(C) Madrid

(D) None of the above

WA Fope STRIE™ |wsiid &1 geareendl
TR ?

(A) AREl

(B) &1

(C) Afss

(D) 3wk H H IS el

The performer’s right was granted
protection in India, after which of the
following Amendment Acts ?

(A) Copyright Amendment Act, 1992
(B) Copyright Amendment Act, 1994
(C) Copyright Amendment Act, 1999
(D) Copyright Amendment Act, 2012
ffafea & & frm wnem sifufem %
F1C HATBR o HTUHR P IRA H TE
EHERERIKIRIR I

(A) widise weme arferfrm, 1992

(B) SHITRIZE TemeH rfafrm, 1994

(C) HIdRTZS TMe Afef=m, 1999

(D) widirse wemes arferfrm, 2012

Which among the following is non-
patentable concept as per the Indian
Patent Act ?

(A) A method of algae cultivation

(B) Weeds removal methods

(C) Prophylactic methods

(D) All of the above

frfafaa 9 @ =1 wRdE 9 sifufrm
% AR U3 AT JFaUROm B 7

(A) Jaret st @eft <6 ferfer

(B) GUUAIR g2 o ferfert

(C) TrTtRieft ferferat

(D) 3Tk G+t
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137.

138.

Which Section of the Trade Marks Act,

1999 lays down the absolute grounds for

refusal of registration ?

Jearh Itfafem, 1999 Y & = g
USIIehTUT | RN hid o T quf 3men
TEH HA B 7

(A) Sec/dgT1 10
(C) Sec/aru 8

(B) Sec/gm1 9
(D) Sec/qm 11
was the first country to afford

a protection to geographical indication
through the legal instrument.

(A) Britain (B) Germany
(C) USA (D) France

H fomm % mwem ¥
AMifeteh Tehd 1 TRV YgH i Gl
TEAT o T |
(A) forea (B) SH+ft
(C) qeET (D) %

According to the Biodiversity Act, 2002,
if any dispute arises between the
National Biodiversity Authority and a
State Biodiversity Board, then the appeal
may be preferred before :

(A) Supreme Court of India

(B) National Green Tribunal

(C) Central Government

(D) National Biodiversity
Tribunal

Appellate

S faerrm e, 2002 % s, Af

at ardier frferRad o wmer <t St wehdt &
(A) YA ST Fai= =TT

(B) U B =mafeero

(C) °hg TR

(D) T Sa-fafeear srdfief =i
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\139. Digital signatures are based on the

140.

141.

public key cryptography, which is also
known as .

(A) Verifying key cryptography

(B) Secret key cryptography

(C) Asymmetric cryptography

(D) Symmetric cryptography

fesficat g&aer graieh Hoft fopearamd
WRaads, M8 wEIH
oft ST R |

(A) T it TR

(B) T Hpoil TR

(C) Iraufid fspeemmht

(D) Tmfa fepeemmdy

Which among the following is not a type

of peer-to-peer cyber-crime ?

(A) Credit card details leak in the deep
web

(B) Phishing

(C) Injecting trojans to a target victim

(D) MiTM_

frfafaa # & & 91 T TR @1 fR-

T -dleR HTgeR g TE R 7

(A) EIU 99 T shige +18 foewor &1 i
BT |

(B) fwfym

(C) wfera TepR & 2ot Sotere ST |

(D) MiTM

Which of the following is the reason for
the growing relevance of Comparative
Public Law ?

(A) Information Revolution

(B) Globalization

(C) Common concerns affecting nations
(D) All of the above

frafafed & @ w9 @1 goFTAS o
T ! Tl SRR 1 SR & 7
(A) T shifet
(B) SIydiehtur
(C) TF &I yvifed & areft T
feamd
(D) 3Tk it
13 (Law)
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143.

The doctrine of Collective responsibility
that makes the executive collectively
accountable to the legislature is
applicable only to —

(A) Presidential Democracy

(B) Parliamentary Democracy

(C) Republic Form of Government

(D) All of the above

A feeh TR 1 fagia St SRidTfeTht
&1 faurfrert & wfd ar{fes €9 & Jaec
ST R heret fohel T AN BT @ 7

(A) AT A

(B) THE dArha=

(C) BIHR =T TG €Y

(D) 3Tk gt

The form of federalism where the
constituent units of federation are
inequal in terms of privileges, bargains,
allocation of powers or entitlements, is
referred to as :

(A) Marble Cake Federalism
(B) Asymmetric Federalism
(C) Bargaining Federalism
(D) Asynchronous Federalism

T 6! Hewh 3ohTgal faRiTerl, Hiearsh, |

SRR & 3MMeeT AT AR & T |
SHUH Bl 8 ?

(A) HTSH heh HEATE

(B) JrEH{Hd HErdTg

(C) HICHTS HodTg

(D) Tqehifctsh HereTg

13 (Law)
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144.

145.

Different countries have incorporated the

Dicey’s idea of rule of law in their legal

systems by way of-

(A) By incorporating provisions under
their constitution

(B) By passing legislations that uphold
the spirit of rule of law

(C) By efforts the Courts to uphold rule

of law while deciding any dispute
(D) All of the above

fafir= <ot 4 st & fafy o1 s &+

foaR 1 ST9 S SOl § i

ERIEE

(A) 304 AfggHE & dgd Al
STfEret e |

(B) Tafer =1 smem <Y wireaT i s WA
TSt ST I AT hieh |

(C) Torelt oft forame =1 Shoem wd awd
Jrererdi w1 fafer =1 e 1 eA T
T & Y= | |

(D) 3Tk Gt

The doctrine of Separation of Powers
attains strong hold only when embodied
through written constitution. In an
unwritten constitution like UK, the
doctrine has no application as there is no
limitation on powers of legislature. The
statement is :

(A) True

(B) False

(C) Partially True

(D) None of the above

IITRAl h JUFRT I G shael faRad
Tfqe & arem @ widfed 89 o € Ao
B 2 | I N8 Fferfaa dfewe W, 3w
flrgia 1 ®1g I TE 2 Hith awl
Tarenterent <t wiea W HIE THTTE B | T®
HUTR

(A) w8

(B) TTeTd

(C) AIfITeh &9 T T

(D) 3WIRH T B hI3 T&
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147.

Judicial activism in UK came to be

established as an approach of court to |

address citizen’s grievances by the case of —
(A) Ridge v Baldwin

(B) Conway v Rimmer

(C) R (Ullah) v Special Educator

(D) None of the above

Yeh H ATIIh HisHAAT fohd HTHA T ARTIGRI
& fieprral &1 g i W AT 31ererd
o feron 35 v 3 T g8 7

(A) T m sresfam

(B) whi-a sM R

(C) IR (IccTtg) o formiy fneren

(D) 3T H & HIE &l

Select the most appropriate answer in
relation to Constitutional review in USA :
(i) The Constitutional review in USA

is dispersed through judicial system.
(ii)

constitutional court and is rather
available to all courts.

(ii1)) The review can be invoked by any
litigant.

(A) All the options are correct.

(B) Only (i) is correct.

(C) Only (i) and (ii) is correct.

(D) Only (i) and (iii) is correct.

TIH TS U H gdgries Frfien &

T H G ITTH I BT I B

(i) GIH TT IWEHT H Fagmiren Tefier |

=1reh JoTTeft o werg @ Bt gL 1 |

The Constitutional review is not |
restricted in USA to specialized !

(n)ﬂﬂ?ﬁﬂ@ﬁh%ﬂﬁﬁ%ﬂﬁ%ﬂﬁm

& foTu Iueteer B |

(iii)%ﬁﬁwﬁmmaﬁmwg

HATEEH feharm 1 Eehell 2 |
(A) gt frepea a1 & |
(B) heret (i) Tl & |
(C) had (i) 3N (i) T&I 2 |
(D) had (i) 3 (iii) T 2 |
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148.

149.

150.

The case of Hawke v Smith is the
leading case that settled the procedure
for ratification of a constitutional
amendment by the State Legislature. The
case pertains to the amendment of the
constitution of —

(A) Canada (B) USA

(C) Australia (D) France

Bich S FEHY 1 WA Y@ WA 8
o 759 foummed g s gdune
e % IgEudN H ubRA
uftfagifa fepen | wmoen fraes wfawm &
N | TGO R ?

(A) TSt (B) IusT

(C) Irefor (D) %8

First country to  establish  the
Ombudsman was —

(A) Finland (B) Denmark

(C) Sweden (D) Australia
ATRYT TG A ITAT 8T S shid T
o1 ?

(A) TTeis (B) 14T

(C) iteq (D) e foran

The US law Freedom of Information Act
exempts certain information to be

disclosed to citizens. Which of the
following falls in that category ?

(A) National Security Information

(B) Personal Privacy Information

(C) Geological Information

(D) All of the above

TR T AT hl T ff=m

ARTRERT 1 ke i ST ATeh H© a1
H P ed & | = d @ w4 3| aoft
AR ?

(A) TER & o

(B) SaAREIT MU=rar Jehr

(C) ¥l FerT

(D) 3Tk |t
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